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1.

PART—A

CPU T ALU (Arithmetic Logic Unit) &0 q@1 %1 3 37
(a) T B A¥F wE

(b) AT it wifera 2TRIA T

(c) FT9E 3N Iseye fyamgw i Frifyd st

(@) IS F {3 7

CPU &9 ALU (Arithmetic Logic Unit) =7 Wy i ft 32

(a) HRT = ydus gg

(b) »TERfeT W3 Brflas WUIFS TS

(c) feaue w3 »rBeye foewdint § deds Jaar

(d) Cud=s Y I &t

What is the main function of ALU (Arithmetic Logic Unit) in CPU?
(a) Managing memory

(b) Performing arithmetic and logical operations

(c) Controlling input and output devices.
(d) None of the above

2. frefeian o & siv-a1 s i feey = 27

fegat 129 faogr fea Guaféar fimen & 32

Which of the following is not an operating system?
(a) Windows 10

(b) Linux

(c) macOS

(d) Microsoft Office

3. HIYRY A W T AR 5 a9 # T10,650 31 6 i § T11,076 & it 81 T =0 272
AU9s fonm '3 5 Wt feg 59 g9 10,650 TuT vt 31 w3 6 A3 f<9 11,076

JUT g3t T) gaH ot T2

A sum becomes 10,650 in 5 years and ¥11,076 in 6 years at simple interest.

What is the sum?
(a) ¥ 8,946
(b) % 8,740
(c) ¥ 8,520
(d) ¥ 8,800
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(a) 5o

(b) 10 =
(c) 15 @t
(d) 30 It

s < 73 5 25 et 5 30 Foft, 00 Ao, 196, 20 A w0 1A 35 A
Bt § v maet 3, 6
(a) 5 AHt

(b) 10 Faft

(c) 15 At

(d) 30 "t

. 1
The greatest length of the scale that can measure exactly 30 cm, 90 cm, 1 m
20 cm and 1 m 35 cm lengths, is

(@) Scm
(b) 10 cm
(c) 15cm

(d) 30cm

Gl SIS 1 HE q WA Wik 8 R VAR 391 TAE Bl B T 144 31 afe @
HEA 16 8 T gl §E [0 i
< ARmE 7 /8 3 ¥ AT IR 8 I 79 I 6957 = LCM 144 3| J939 fox mfor
16 I 3 oot After B3

The Greatest Common Divisor of two numbers is 8 while their Least Common
Multiple is 144. Find the other number if one number is 16,

(a) 108
(b) 96
(c) 72

(d) 36
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R A T AL S b N T 2T TR kTR SLITA B o e S A i AN LRSS A

s AT N e S R A L L R s e

6. I TH TH Bl 8% T h S 8% T T =1 e 2, A 36 T T 12 310 T 81 &) T
1 7 T T iR

799 € TAG 89, w2 <t TAE 8% B3 T At widht I, 3t fewet vz T12 I9 =3
=rg 9 39 ¥ =3,

If an article is sold at 8% profit instead of 8% loss, it would have broughtI 12
more. Find the cost price of the article.

(@) ¥75

(b) T72

(¢ %70

@ T 60

7. AT T g Tler ol I TG WE110 T Rry) fE S8 1 20% e W B 9= fa,
B AT 10% ¥ THam W C 91 39 R 3k ¢ T8 10% % @ W 1,188 F &= feam
7 TR = @ T forq A 5 o5g wliwr?
AT 52 =g udfidh w3 fen &t wiH3 3 7110 yow i3 foo GFs feng 20% 89 3
B3 2fenr, B% feng 10% 2 3aWs '3 C§ 2w wid CF feng 10% T &9 73
1,188 feg 2fewm AS Az § TEat g '3 ydifen?
A bought an article and spent ¥110 on its repair. He then sold it to B at 20%
profit, Bsold it to C at a loss of 10% and C sold it for ¥1,188 at a profit of 10%.
What is the amount for which A bought the article?
(a) ¥850
(b) T 950
() T930
(d) T 890

8. 33 Hugr == W fped =fF &1 11 H 1 fssa g 1w B 1 T wiowa S |

33 Wi, ugT W9 F, 11 W feadt vz ams ager 1 B9 YFiEs 9.

By selling 33 m of cloth, one gains the selling price of 11 m. Find the gain
percent.

(a) 20%
(b) 40%
() 50%
(d) 22%

9. W 20 oy TomT S@st %1 A @
ufgedint 20 odd fareft St Hiftprrat = #3 T
The sum of first 20 odd counting numbers is
(&) 20
(b) 100
(c) 400
(d) 313
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10.

AT oead T R am 3t S e o
(a) ST TTET

(b) -~

(c) T=m-T-fe=

(d) IR-T-HEWIg

TS IS Te § < fagr wie Hh
(a) HIr® TERE

(b) AI-B-Uwry

(c) FHH-B-fJT

(d) AIT-E-HITHST

Lala Lajpat Rai was also known as

(a) Bengal Tiger

(b) Sher-e-Punjab

(c) Rustam-e-Hind

(d) Sher-e-Maharashtra

3 11.

TRT 1 451 GiogH g geateiiad 91l

(a) W Tl TR TESTE

(b) ket A1 res],

(c) o WA ETH

(d) FreaTeTTe TifReTe geh

993 T YS Hiews o9 38 fouz Hh
(a) Y fagdt sofee greamer

(b) 48 & Iy

(c) 3. $HIG »iEsag

(d) IIEHSBE Heas™S HEH

The original Constitution of India was handwritten by
(a) Prem Behari Narain Raizada

(b) Kailash Nath Katju

(c) Dr. Bhimrao Ambedkar

(d) Kanhaiyalal Maneklal Munshi
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12, T S 5 dt g FEREA e =T T 3 Saren G S rea S
F yoeH 3R P & wefta 87
(a) AR, freE, fgu 3R Armels
(b) M, Herer, By ok feiw
(c) 3TEH, HETEH, IFRUTES Jo¥ AN NS
(d) TEH, HEE, e 3 Anmes
ol Hfeus & 2 »igpdt faox 99 d'ﬂ?ﬁqhﬁgﬁgwh@@mm
2 yFHS W32 fatizas 3% Hefgg J|
(a) WD, fimaw, fquar »3 sards
(b) »AH, Hufegnr, fquar »3 fiEaH
(c) WA, Rurfenr, wgeeas YSr W3 3H6s

(d) WAH, Hurfenr, fimed W3 aarss

The Sixth Schedule of the Indian Constitution deals with the administration
and control of Scheduled Areas and Scheduled Tribes in the four states of

(@) Manipur, Mizoram, Tripura and Nagaland
(b) Assam, Meghalaya, Tripura and Mizoram
(c) Assam, Meghalaya, Arunachal Pradesh and Nagaland
'(d) Assam, Meghalaya, Mizoram and Nagaland
13, ‘REcer fho O« § geita 27
() B
(b) wefie
() M=
(d) =
flusss fan 8987 &% HEfgs I7?
(a) fgae
(b) gsfies
() fem
(d) 253 few
‘Wimbledon’ is related to which sports?
(a) Cricket
(b) Badminton
(¢) Tennis
(d) Table Tennis
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14.

U b 79 &1 T 87

(a) anfem

(b) IW weW

(c) Fleh

(d) iy yaw

e fam o/ &7 &9 I7

() &Ftar

(b) €39 =W

(c) dgaed

(d) »ga ySw -
Kathak is the dance form of which state?
(a) Odisha '
(b) Uttar Pradesh

(c) Karnataka
(d) Andhra Pradesh

15.

Tl W5 H A o % o Maret 3 o 3w ) 3
(a) iedior, giferm 31 e SRR
(b) 3ffedier 37 gESeH

(o) A 3R FEA SRR

(d) ITiiaH, diferam TR ArgoH
30 AeT 199 WO B o, 999 D fimee o =93 992 U5
(a) wrHiAeE, A #3 I9Es IEhaRTEE

(b) waHIE #I TEEES

(c) wartas W TS SEEATE S

(d) »aHias, S w3 seftens

For respiration in deep sea, divers use mixture of
(a) oxygen, helium and carbon dioxide

(b) oxygen and hydrogen

(c) oxygen and carbon dioxide

(d) oxygen, helium and nitrogen
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16.

frafifaa § @ S-w aw G20 a9 # few 78 27
(a) STEfer

(b) =

(c) frmE

(d) $SHRE

Jot fofanr &9 fagar 90 G20 WyT = fJmr &t 972

(2) WASEMIT
(b) s

(c) fHamyg
(d) TESEHMr

Which of the following countries is not a part of G20 group?
(a) Australia

(b) China

(c) Singapore

(d) Indonesia

17:

frfeifad o 3, 9 Swfous ¥ § & SEnsi 1 98 U T, S fou 1 §2 % wHE B
fear man @2 : (63, 49, 35)

35t 3 s fee, 9 feamfua At 25 et o G fe 98, A R o Ae S s
T T
fa3r A : (63, 49, 35)

In the following question, choose the set of numbers from the four alternative
sets, which is similar to the given set :

Given set : (63, 49, 35)
(a) (72, 40, 24)
(b) (72, 48, 24)
(c) (64, 40, 28)

(d) (81, 63, 45)
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18,

T e T e S T e g, T R A P W

f& = ¥ (CEH : IKN) ! )
I 93 yws i, wmﬁﬁaW@@aﬁ%@ﬁﬁam@ﬁz%m
T

g3 fiT : (CEH : IKN)

In the following question, choose the set from the four alte
which is similar to the given set :

Given set : (CEH : IKN)
(a) (ACD : FHJ)
(b) (CDF : LUK)
(c) (EFH : KMN)
(d) (OQT:UWZ)

rnative sets,

19.

ﬁmﬁfﬁawwﬁﬁﬁﬁﬁ?ﬂq@ﬁﬁmaﬂ%ﬁw%aﬁmmwmw%lm

FTHIA T S L S 39 UG Y T A& 2

Jat 83 9 Fisat 14 s 9 fanfos sdix oo 6 i 96 w3 fom sq7 RS Wyo
582 T51 Qv 599 35 & OF Auv &5 Hdfuz & T

Four of the following three figures are alike in a certain way and thus form a
group. Select the figure that does not belong to that group.

A

(b)

(d)

/9-B
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& (20 & 21) : I Y LAFGEF 96 3 59 % IR S -

a3 AR A, B, C, D, K, L, M 3 NG & gara # fafirs aeit § tea &1 390 § T § 3113
T IS T 36 TR & 6 aet 1 T 1 3 3l g oot oo i @ 8 2l B3 A% &=
S o AR e § -A T e e 9 e W 2 i ary & MR TR T
I6F T IR TR W @A 21 C 3 DR aei W w § 3% i e 4 o wd 8K
39 T % I SR Tea 2 R W BT 3| M HH gE 9 ool W @l 81 C 39 7 % A
T 9 G I a9 W B & R W N @ R1 L, v % S afet B a9 % SR e

T T W& 2
oSt (20 & 21) : wEadl § fons % U »E AeEt € Fe 26

iz fen@dt A, B, C, D, K, L, M w3 N85 fonrgs &9 Su-=y st 3 3fde a1
fenas &9 a3 wis 3= wic Hfiet 76 fen 3q7 fx Jod! Hive § 1 »i2 79 3 Guadl
s 8 8 39 figr fapr 31 % J=8 {35 fowadt 95 7 B3 AR fegaa IR 5
7 759 odd 35 =&t vifas 3 ofdR T8, w2 fiam Wfas Mafder 9, €8 €ue 3fde Ta
fitgg € fouadt I5 7 Cw3 DR fegarg Wfast 3 3fde 951 K R ifds © fasss §us
afder § 7R '3 B ofder 31 M ¥a even &9 =8 Hivs '3 afder 31 C f&« even d8a
=@t Hfaw, N2 I iifas 3 sfder &1 L, ¥ 2 357 U B &t Hfus € Gug afder
dJI

Instruction (20 & 21) : Read the information carefully and answer the
questions :

Eight persons A, B, C, D, K, L, M and N live on different floors in
the same building. The building has eight floors from one to eight in
such a way that ground floor is numbered as 1 and the top most
floor is numbered as 8. There are only three persons who live between
B and A who lives on odd numbered floor and above the floor on which
M lives. There are only two persons who live between the floors on which
C and D lives. K lives immediate above the floor on which B lives. M lives
on an even numbered floor. C lives on an even numbered floor below
the floor on which N lives. L lives on one of the floors below N but above B’s

floor.

/9-B
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20.

Pt & @ S S99 Sul ool 0 @ 8 7
%Wﬁ%n@é‘wm%a&aﬁ’?ﬁ?

Who among the following lives on the topmost floor?
(a) A

(b) D

() K

d) N

21.

freffas o 9 fFe o0 W L@ 87

(a) W&

(b) e

(c) st

(d) wreaf

35 fafmrt 55 fawm ¥ '3 Lafder 37
(@) ufia

(b) STt

(c) wa

(d) dn=t

L lives on which of the following floors?
(a) First

(b) Third

(c) Seventh

(d) Fifth
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22, TETIRIT STSETYE T SIHES AT i 3R Frfifad v o I <
It 32 YT T frs o5 wiftods =9 w3 Jot 193 mes w Aey 96

study the following arrangement carefully and answer the following
question :

Y7&*MW2@V1IN%SL?+98A$C#HINO
foram 218 % 3% TES TF WH T ST B 7.
(&) g &
(b) @
(c) &
(d) o & i
o T A § 33 ufst s W 752
(a) e &
(b) €
(c) f&a
(d) €& 3 =g

How many alphabets are immediately preceded by an even number?

(a) None

(b) Two

(c) One

(d) More than three

23. 8 JEN W 1 2, 1, (1/2), (1/4)....
| el e HA-T A =R
" fem 39fiY § 2 : 2, 1, (1/2), (1/4),.-
W fager dua g sfter 97
Look at this series: 2, 1, (1/2), (1/4),....
What number should come next?
(a) (1/3)
(b) (1/8)
(c) (2/8)
(d) (1/16)

/9-B (13) [P.T.O.
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[ 24.

IH T JId IR
3 d9T B9 :
Find the missing number :

13|54 |7

27 | 144 | 68

(a) 42
(b) 4
(© 6
(d) 36

25.

MS Excel A usae B

(&) e iR - 35 e 3 o e i

(b) T YHR T g

(c) T b T A

(d) aqgfasﬁ@raﬁéﬁ

MS Excel &5 fEg 83 ____ 31

(a) fea Iz F%dé?é_fé’i’ﬁﬁﬁﬁ&ﬂ?éﬁﬂa‘u’
(b) eous o fiq famw

() v9c & f&x famn

(d) Budaz &9 et &t

A cell in MS Excel is

(a) a storage area for a single piece of data within a row
(b) a type of formula

(c) a type of chart

(d) None of the above

(14)
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26, MS PowerPoint § Tss T T& H % Y F@l Tiedhe Foil H-1 87

MS PowerPoint g s Ao # Hg 05 Be At Adede it faadlt 97
Which is the correct shortcut key to start a slideshow in MS PowerPoint?
(a) Ctrl+ S

(b) Ctrl+C

() Ctrl+V

(d) FS

27.

fpeft I=@Tse % 1= # HTTP 3R &t 2
¥y 2grdie u3 &9 HTTP =R e J
HTTP in a website address indicates
(a) Hyper Text Transfer Protocol

(b) Hyper Transfer Text Protocol

(c) Hyper Text Transmission Protocol
(d) Hyper Text Transaction Protocol

28. Td 35 H Y& w1 71 87

(a) CECIECACTIT]

(b) $eTE T SR o

(c) Sewmrgel % forg mifthad s

(d) w4 & Fd T

fig AT fBre T WY aH I

(a) Tewele’ gTgE BEl

(b) fcase '3 Aeadt B9 Y

©) Ferdict st qiean sgE o

(d) Sudaz &9 3t &

The main function of a search engine is
(a) to create websites

(b) to find information on the internet
(c) to create graphics for websites

(d) None of the above
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29. AN (malware) T 27

(a) @mwmmmwmﬁ@mﬂmmwg .

(b) =i < il & s e 7 At T, H0 TG A SUFT G A
FA F for fewmea fomar w2

(c) eafd % v wh YR 1 gAW B

(d) 37w & @ H$ 7

W& off 37

() =fiGeT Bewga & Showr a9 et =93 we Weeend o T famd ﬂ

(b) WeTnd 7 ¥ 39 '3 dfufes famer § fews, gaAs, 7 MOHIRSS U Yz
996 TEl f3nrg oftgr famr 3

(c) ¥e=afdar 9 =93 7= =8 grggmig ot g fmH

(d) Susas &5 ot =t

What is malware?

(@) A type of software used to protect a computer network

(b) Software that is specifically designed to disrupt, damage or gain| '
unauthorized access to a computer system

(c) A type of hardware used in networking
(d) None of the above

30.

frefafen 4 @ sh-mr e fSamsg 27
(a) fiiex

(b) Hie

(c) @™

(d) wfi

fegst fed fagar g fesue fserdim 37
(a) fies

(b) HWdleg

(c) HgH

(d) mftag

Which of the following is an input device?
(a) Printer

(b) Monitor

(c) Mouse

(d) Speaker
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31.

PART—B
() I U1 =7 THEY
(@) 3= T s
(m) Ao 3 =iifes fian
() =g a8 Rp gl fen sewen &
(a) ITdE
(b) TH T,
(c) 9@+
(d) THEH

32.

frafafad ZEmR 1wt 2 Fa
e ! T Tg] P

(a) T W HIF THE T& B

(b) T T TGO T B

(c) Wi =i AT ¥ TR T Bt
(d) 3 o H e i

33.

ﬁqﬁf@amﬁ%nﬁmwﬁﬁ%ﬁﬁ :
e

(a) Teram

(b) 4T

(¢ TR

(d) @ |

34.

Srefifad wee 3 v frdaris w= F1 e Bt
age

(a) dfiea

(b) Hiar

(c) WhA

(d) =g

35.

odt wreg ¥ R @ g B
Wﬁ@ﬁ%%o@ﬁo@oﬁﬁﬂ_ﬂﬂﬁ%ﬂl
(@) TH T

(b) 7™ &=

(c) SvaR @am

(d) Ty

/9-B
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36.

Frafafa o & @ s f vg=m =
A 31ehT e @R 2, e HY e
(a) o

(b) =T

() 3musHt

(d) @rrR

37.

forefefia arm & @ w6 ggm =
et foreft =it 3resT =l

(a) S

(b) 3r=s1

(c) Tl

- (d) T

Ty

38.

TFrefefea o # & fygor St gg9m #:1
74 foatedt yo 3w @ free giewa 2
(a) TaefuamE

(b) HfFhe

(c) #u

(d) e

39.

FraferRea ol & & arpds e ot I 6 vgam =
(2) 9% ¥gd O9 QO 2

(b) W @HI @i &l

(¢ == flaeih dre Ryl

(d) % GiEhe | THe S gl

40.

ffReaa weg =1 @ af-fsde v =t -
T

(@) 7+ 3F

(b) 7 + 3

(€ T+

(d ®|+T

/9-B

(18)



PART—C |
b . 95 fod yEat @ €59, Gust ¥ I5 1Y feamut 59 9o @ fub/Gae Hie '3 =9 &9 ¢
41.

fig =96 WOE gU ‘A3 T Huud! QU I3 fefimt 89 fags 272
(2) ¥

(b) Xfemit

(c) SBhAT

(d) ot

42'

“Hdars Gud € 7t a7 & I3 1339, H9q, é‘aa,@s%zﬁaé’r%&”ww%ama
HSo % AUl 99 9 :
(@) #I5 Gud €52 wit Sfes ¥ IsT asfodt, T, yadfl, Tt 3 g

EC

(b) o GuF €52 wit afes 3 I faud, e, o, dadt 3 gam AW
() s GuT €52 mit 9795 ¥ ISt T2, e, gadl, 93 3 BET A
(d) ﬁars@ﬁ@%@nﬂa@ﬁ%ﬁ#fssaﬁ,w,gaﬁ,%g@éﬁ%ﬁ

43.

35 fofr 35 foos wdsg Soe o fawregd wuer @ w9y €8 I #%
JI&7?

(a) v
(b) ¥
(c) &
(@

44,

35 fafrt 55 ige’ AeT O @ '3 WI T AAE T WS wE A AEE-AE
g |

(a) fHoge
(b) fHam=
(c) fHems
(d) fHages

45,

fer agw T aa iR o<t T He ¥E I® a1
(a) It =

(b) RY s

() < IW TS

(d) fem @™ | A9 H3

/9-B
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46.

- - 0 e
35 fofipt 129 fagar Ut Hee Legal Remembrancer’ € »9& § YIS 9

(a) FTEAT AT
(b) =TSt vl

() =8t mofea
(d) Fgat weHI o

47.

Iz fafimr f55 faogm AHTHT Hoe sie+a'e AED © FAS &6 "ian J7
(a) IB-yt
(b) BlBaHs

©) TI-femd
(d) Teat

48.

W= afed Yo o gae weE I
(a) I f&9 wrger

(b) =t g=

(c) &ar yr=r

(d) 3IF& 9T

49.

fm Hel wie ;7 et I9asT, aEt WY BT =afer wer 3, O 1Y I9 faoer
MHTE ZGISnT 7T AT 97 93 e feasyt &3 93 .
(a) » go+t feod & 9w

(b) €3 flr A3 3 gt dor T

() vy S, fegar o e

(@) oy it gat, W 92 &=

50.

‘(a) SOrS)

ﬁﬂa’mwﬁamﬁ%gﬁﬁ"&ﬁmﬁ

(b) ITHAT
(c) ™AI

(d) <H&

/9-B
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51. Identify the meaning of the underlined idiom :

| . ; .
I During the presentation, the speaker used several compelling examples to
| drive home the importance of environmental conservation to the audience.

(a) To find one’s origin
(b) To find one’s home
(c) To emphasize a point
(d) To find one’s point

52. Reorder the words to form a grammatically correct sentence :
the/ school/ to /library/ after/went she.
(a) After to school she went library the.
(b) To the library after she went school.
(c) She went to the library after school.
(d) After library, she went the to school.

53. Which conjunction should be used to complete the following sentence?

John wanted to play soccer, tennis.

(a) or

(b) but

(c) and

(d) because

54. Which preposition should be used to complete the following sentence?
Jane is afraid the dark.
(a) at-
(b) in
(c) for
(d) of

55. Change the following direct speech into indirect speech :
Direct Speech: John said, “I will be there tomorrow.”
(a) John said that he would be there the next day.
(b) John said that he will be there tomorrow.
(c) John said that he is there tomorrow.
(d) John said that he had been there tomorrow.

/9-B (21) [P.T.O.
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56. Which of the following sentences is in the passive voice?
(@) She sang a beautiful song.
(b) The cake was baked by my mother.
(c) They will finish the project tomorrow.
(d) He is writing an interesting novel.
57. Identify the correct spelling :
(a) Consciencious
(b) Conscienctious
(c) Conscenscious
(d) Conscientious
58. Identify the synonym of the _uﬁderlined word in the given sentence :
The two business partneré had an amicable discussion and reached a
mutually beneficial agreement regarding the division of their assets.
(a) Tense |
(b) Aggressive
(¢) Cordial
-(d) I;';l.gnacious_-
59. What is the éﬁtonﬁ of the word "In"lpe'de"?
(@) .Obstruet .
(b) Facilitate -
(c) Delay
(d) Retard
60. Identify the error in the following sentence :

She had went to the store yes'te'r'day; but she forgot to buy bread.
(a) had went

(b) to the store
(c) forgot
(d) bread
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AR R R G R RV RNV P RO EE N DB B LSRN PO RCo O DL LR B SO PR b o Som el B

W G uitwE (RCI) o1 wreifhes sewa w1 27
femm it % fore At =t w@mET T
(b) et AR e fvenr wriwAT A Rfvaf st mbiea He
(c) Taspermanaii W fafteean @™ Fom
(d) Te=ar safewal =t faxir wRmar sem e
faiens qFs wrg g (RCY) = Wy 62w <t 37
(a) fe=wiar 897 &t agt § Qamfos w9
(b) Y&I=H 3 feRw fHft Yeemwt § fomiz Jger w3 Hiadlads 9ds"
(c) fe=wiaET '3 Facdt 89 FT&r
(@ feswar foradnt § Rt mofesr Y@ oo
What is the primary objective of the Rehabilitation Council of India (RCI)?

(a) Promoting sports for people with specidl needs

(b) Regulating and standardizing rehab111tat10n and spec1a1 education
programs

(c) Conducting medical research on disabilities
(d) Providing financial assistance to individuals with special needs

62.

W gat| tr&qa (Rehabﬂitation Council of India) S &1 fhg o ﬁ né‘ ﬁt?
ot o

In which year was the Rehabilitation Council of India (RCI) estébliéhed?
(a) 1965 w ¢ e A
(b) 1672

(c) 1986

(d) 1992

63.

Peeegforan & wifsa saf 3 W w1 F—a 4 T w9 A S g 37
(a) W&

(b) e

() i

(d) ETIRT e

/9-B
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2 7 ¥ )

fsrasaEh T (dyscalculia) 3 fenrardht fg fie <7 fergr 939 W 39 %
Jer 37
(a) ¥FaT
(b) fous
(c) drfes
(d) i Jod

Which area of learning is primarily affected in individuals with dyscalculia?

(a) Reading

(b) Writing

(c) Mathematics
(d) Social Skills

- Hyperactivity Disorder (ADHD)?

w—m/aﬁaﬁmﬂmﬁwmbﬂmmﬁmﬁﬁ@ﬁﬁwmwé?

(a) Y5G TISTHS HIvA

(b) THT R TEREHH

(c) 3T 3R e =Y T F o

(d) Iop ek

fmrs-wre /gréyenadifedt fsmmiass (ADHD) =@ fefenradtyt &t feimer ot 37
(a) HWES HAGESHR Jod | |
(b) @H ’F TeftygEaH

(©) n@w@mgm@smm

(d) moEg Bt fire & AEd

What is a characteristic feature of students with Attention-Deficit/

(a) Strong organizational skills
(b) Hyperfocus on tasks

(c) Impulsivity and difficulty in sustaining attention

(d) Excellent long-term memory :
"
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65, diEa i A T BEI o WA 3T A GIfr AT - SR T 87
(a) A Frexferara

(b) firm =M § wfrg

(c) anferafsrarar

(d) S HAEN-GHTEH hHive

FEESHA Fed1 ot I7?
(a) =T femimer wian-feme™
(b) €F3 FTC< &9 wies

(d) 7oET HHIT T8 996 ¥ 769

disabilities?

(a) Overwhelming self-confidence
(b) Difficulty in making friends

(c) I-fyperac:tivity

(d) Excellent problem-solving skills

What is a possible socio-emotional challenge faced by students with learning

66. dr@T S emari % e §,IEP A5 g I aedd 1 8 7
(o) el 9Tt BE % 7T T SRR AT

(b) T ot ¥ Rie die 6 FEE! A AT AT FRET R F

() TiereieraT SRt et Tt % fore s Wi Rrea sl |

(d) v Rt % o o wreen Ariefi -
fifyz &g wimigesT © Heee {39, IEP Gwe e & &t »9¥ 472
(a) Moot =8 fefouwgdnt Bt g yora T

=gt wHe
(0) FfHtmsr I TSt T Tefenradt 38t 3 Adlea Jegnst JeaH
(d) a3 fafimradidt Bet oz yagH aets

(b) fozwiar feforradht et fitie St &37 w3 fiffimr At e & quawr <<

/9-B (25)
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In the context of learning disabilities, what does the term ‘IEP plag

refer to?

(a) A dietary plan for students with allergies
(b) A plan outlining learning needs and instructional plan for students wity,
special needs

(c) A physical fitness program for students with mobility challenges

(d) A curriculum guide for advanced learners

—

67.

feadfama & it ot = vert § gerar & fe frefifaa § ¥ SH-91 TR8Y 30RR
UGN gl Tehar AT 7

(a) wriftem fRamor
(b) EATHS ANTEHAl
(c) ITST JETEROT
(d) SHEBR Heiad
UFs 9 Tondartinr =& fefonradnt & rorfes ot 35 53 &5 faoar owg i 39
'3 &t =gl Aer?
() wdlga fmwset

(b) Phonemic W9IgasT
() IR &t yffonr
(d) fe=uw< Ay

Which of the following interventions is not commonly used to support students
with dyslexia in reading?

(a) Physical training
(b) Phonemic awareness

(c) Language processing

(d) Behaviour modification
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Wﬁhﬁrm%éﬁﬁ PWD 1 7ot &9 %91 &7

(a) Public Welfare Department

(b) Persons With Disabilities

(c) Physical Wellbeing Division

(d) Progressive Workforce Development

»iasT wiftas ¥ Hegg fS9 PWD’ mee = f wigg J7

(a) Public Welfare Department

(b) Persons With Disabilities

(c) Physical Wellbeing Division

(d) Progressive Workforce Development

What does the acronym ‘PWD’ stand for in the context of disability rights?
(a) Public Welfare Department | | '
(b) Persons With Disabilities

(c) Physical Wellbeing Division

(d) Progressive Workforce Development

69. §d e ARMM T T F fFw w@ H fen W @ i w2
(a) = famem '
(b) SRR frem
(c) wmeafhes forem
(d) =ETEETREs fEn _ :
Hae fifinr wifenrs Wy 39 °3 il © fan Jo9 '3 S=fes 97
(a) €9 ffpar
(b) weEt
() Bzt fHfer
(d) Zemss frfeT-
~ Which level of education does Sarva Shiksha Abhiyan prima.riiy focus on?

(a) Higher education
(b) Elementary education
(c) Secondary education

(d) Vocational education
/#B (27) [P.T.O.
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70.

(c) cHTEETRRR Wi i gRTfdd HE

Hﬁﬁl%aﬁm?ﬂg@qﬁww%?
(a) I= Rre 1 wgrET &

(b) Wi fgm & ardsifies S8 T

(d) e § argEuE % gueld w0

o= Tl wifgors @ Wy de & 92

(a) €7 fifpur § G3mTaz Fao

(b) HeE fiftmr ¥ Aoefodteas § L['IH Gy

(c) =amew et § =T

(d) frfimrm f&9 89 T AHIES S8

What is the main goal of Sarva Shiksha Abhiyan?

(a) Promoting higher education

(b) Achieving universalization of elementary education
(c) Enhancing vocational training

(d) Supporting research in education .

i

B R gRen . S e s gE- i T 8 I 2 27

(a) TrmTHe fram
(b) TS g
(0) (a) 3R (b) TFH
(d) (o) R TE (b)
frget wipHns UgS wara T v w3 fefonradt-defes affedtn’ &5 7=t 34
I?

(a) fszafes »foHmys
(b) fEsafer nifmys
(©) (a) »3 (b) &2

(@) & & (o) »=3 & I (b)
Which teaching approach is often associated with discovery learning and
student-centered activities?

(a) Deductive teaching
(b) Inductive teaching
(c) Both (a) and (b)

(d) Neither (a) nor (b) -
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2. AT RIS 1 3Red T 37

(a) =R @ 3R =901 I TieHTRA BT

(b) B B = Rrgie 1 i HE % fre AR o

(c) ToenfRiEi =t fafire itfeufeat & wmmw fagia oy wen R
(d) o wwst mg TR =t T S

fesafez fifimr g Q2w ot T2

(a) MBIeSHA HY w3 87 § C3mfaz gaar

(b) fefenradnt § »mu@ »iny fiTig Sac BE =TS 967
(©) fefonradort § yi wiadnd &7 e fATist § w9 996 o1 fmrge
(d) foa® 713 = § G3uia3 96T

What is the purpose of deductive teaching?

(a) Encouraging critical thinking and exploration
(b) Guiding students to discover principles on their own
(c) Teaching students to apply general principles to specific situations

(d) Promoting memorization without understanding

73. gl R ugf i smefen Rsiwar w0 27
(a) Prerer-hf3a frdw ’
(b) SRS -G gfeeshit
(c) TR HaTg
(d) wedHiiEaT e H ST
G o paaE fedt € My feRmer ot 37
(@) wimmya-afgs Jefes
(b) Bagg-wiras ude
(c) WIS w3 7Y Ae
(d) e Aest € =93
What is the primary characteristic of the Socratic method of teaching?
(a) Teacher-centered instruction
(b) Lecture-based approach

(c) Question and answer dialogue
(d) Use of multimedia resources

 /9-B (29)
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74,

e TeraE Ria g i N S 87 ﬁ

(a) URUN =M T

(b) mm%wmmmmaﬁwﬁrﬁfﬁﬁaﬂtaﬁ%mwﬁm
1 ITANT Hek YRR Rgr e H I ¢l

(c) Triwr ¥ fou frdw =7 & Siehfieh! 1 ST HE

(d) FgEm & fm s des TSR ¢

FfEUE TG Himms ot i &t 7HE 372

(a) YIUTTS B9 TIH

(b) mémmmmmmmm@wwmém
¥t =99 J9a gefedt wimmus HES § Bgeee

(c) Tiftpr =t feim 39 '3 IAaaAT O =93 9o

d) fost mfater @ fowgdtes fide '3 #9 9

What does the ‘Flipped Classroom’ teachmg method involve?

(a) Traditional lecture format

(b) Inverting the traditional teaéhing model by delivering instructional
content outside of class and using class time for activities and discussion

(c) Exclusively using technology for instruction
(d) Emphasizing individual learning without collaboration

75.

-t reror wRf fefy sman ot ol % e g 3w B g o 22
(a) HfRPa e

(b) wenHT e

(c) & ATEH IHY

(d) wfcregef Heamea
mmm@mmmwmmm@m
IBHS § Geias dodt 372
(a) foradl= gefes
(b) Y fegrs

(c) WY3 BI9d eTHe

@ yIraet yoiae |
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Which teaching strategy promotes collaboration and interaction among
students with diverse abilities?

(a) Individualized instruction
(b) Peer tutoring
(c) Strict lecture format

(d) Competitive assessment

76, T dea 3 fafa fidw & v e 27

(a) @t gl % fog wwm dhas = IYE YeH FE

(b) e fRrerer SR W we w0 ¥ frg fagor Rl ok awh H s

(c) Tesaim o=t =t di@ 1 ik § AR HE

(d) 0 w8 ® Aehisa whge W el @

g Hrfsg Honfy fig fefds gurfest ot wHs Iaed I67

(a) w3 fefonradhnt =t i fd fifus | nigs= Y=76 98

(b) fefds fifue St agast § Yo7 99 &6t wifows T et w3 AHIRT § »B3S
EEASeY

() fitas &t yfafour 3 wimiee fefenradvt § o7a9 JueT

(d) fAae ynfes enfdar '3 SIn Q&

What does differentiated instruction involve in an inclusive setup?

(a) Providing identical learning experiences for all students

(b) Adapting teaching methods and content to address diverse learning
needs

(c) Excluding students with special needs from the learning process

(d) Relying solely on standardized testing
77. T frew i Rifye R st @) geita w0 o fag_ fegor fafte o ameft
et Bl

(a) U&m
(b)  AFHRSH
(c) wicees

(d) HARIRTr
/9-B (31) [P.T.O.
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A

<z ;:3

AHat Aes It 3
WSS JI&T
(b) Wiggs s=ge

(a)

(c) HHT
(d)

(2)

(b) adapting
()

(d)

H&AATE

Differentiated instruction involves
address diverse learning needs.

ignoring

limiting
standardizing

teaching methods and content tq

78. Wiy R ¥ HEfia gEi % wueE % i yRa § DPEP (ﬁwmﬁmﬁmm);{
o3& fomam e

yfendt fhftmr 57s aduz Wient § I& 996 St DPEP (fagr yrenst frfunr Jagm)

feg 93 f&g gy &5 famr Hh

DPEP (District Primary Education Programme) was launched in India in the

HS%

year

1986
(b) 1994
(c) 2000
(d) 2010

()

to address issues related to primary education.

79.

feemin =afeEl & sl ok &4l 1 gan F o 4 POA wfufmafua frar mar

AT

feewiar fenadin € nifagst »3 37 &t ot = g POA &g &1z famr

H

POA was enacted in
with special needs.

1975
(b) 1985
() 1992
(d) 2005

(2)

to safeguard the rights and interests of persons

J
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R

The Perso_ns with Disabilities Act in India mandates the reservation of
in education and employment for persons with special needs.

(a) 9%
(b) 10%
() 15%

(d) 3%

sl.mmwmﬁﬁn%iﬁw%%%ﬁmaﬁaﬁﬁ@ﬁﬁ TegE FW I R e
wTTfere S TR Bl

(a) @M

(b) @M

(c) 1 FW

(d) < Sfem # Ao =gH

HaiHa fHog Hedt fearg daer Hies oo fea formadt < fue, viogn 96 »13
& tor § yFies 9 A T

(a) ale
(b) ¥=.

[+3

(c) <aIH®

(d) mHETs
/9-B (33) [P.T.O.
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ity to think, feel
Mental health disorders can impact a persons abitly

in daily life.

(@) sleep

(b) eat

(c) function

(d) socialize

and N
T

82-

UNCRPD ®I ____ %! 91 1 o1l
(a) 13 &&=, 2006

(b) 13 &&=y, 2007

(c) 13 feusy, 2008

(d) 13 fe@sr, 2009
UNCRPD § »rysrfenr foprr wt
(a) 13 TFgq, 20063

(b) 13 =HHEg, 2007 §

() 13 =¥Hg, 20083

(d) 13 =HE9, 200938
UNCRPD Wa_é adopted on
(a) 13th December, 2006
(b) 13th December, 2007

(c) 13th December, 2008

(d) 13th December, 2009
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53, i, W SR G U AT T U i 2 o7 g8 e % o S gl b e w5

¥ fore st fhan e 21 Ffeifea & @S- =t 27

() VE, WHF I o

(b) TEH, WHFAT TR AT

(c) WA, SuSTsyal I HEH Tu=

(d) Tt wE g |
HeWH 798 HIad 2vraT 5 e fam o Jararn 3 wid fiffkmr © s o frafsr &
Y3 I35 BE fanrg digr famr 31 st 783 5 faozr mdt 92

() uds, fegfedt »3 gear

(b) UJS, AHSIT M3 H3TT

(c) FHS3T, GumgusT w2 FUs IIYT

(d) w9 7t I8

Swayam is a programme initiated by the Government of India and is designed
to achieve three cardinal principles of Education. Which of the following is

correct?

(a) Access, equity and quality

(b) Access, equality and quantity

(c) Equality, availability and resourceful

(d) All are correct

84. frafaRaa § A HF-T1 GHHS &HAT T I=HIH WL &7

(a) =TT
(b) SHAT

(c) AT HET

(d) Toweror S

Jo fodftor 129 fagsr Susva e & 79 3 €97 Y9 9
(a) A<& |

(b) WWZ

© HBiE Fwe

(d) fewdne q9a7

/9-B
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Which of the following is the highest level of cognitive ability? \\ :
(8) Knowing ™~

(b) Understanding
(c) Evaluating
(d) Analysing

85.

w5t 7 et Rre B g Heel ghaw 2

(2) gt # g ghemd

(b) <Ref yormreft

(c) ST gEaeh A freror gft

(d) B ITARY T

Ags 1S9 fiordt fitfmr & w9 S wdseugs goa 5
(@) 7EE 9 gl wgwst |

(b) SBHIH fAmeH

() Us yrAsat w3 igmE et

(d) feferraeft yruaht = e

The most important indicator of quality education in school is
(&) infrastructural facilities in school

(b) classroom system

(c) textbooks and teaching material
(d) student achievement level

86.

‘Wnﬁﬁvmmw’mwmﬁn__%mﬁwm%l
(a) fo=am =fF

(b) RPYS wrcamaeen

(c) NS 5H

(d) o & ¥ = 7

HEE wWe-ule yfsdfug Tsmee’ § _ wt =afonr wer 3
(a) =T 2T '3 AHIY fomwt

(b) "I HHYS T FAS

(c) wggar &4

(d) G335 3 ot
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The term ‘Jleast restrictive environment’ is used for
(a) differently abled person

(b) early childhood youngsters

() elderly people

(d) None of the above

.

g7. S WA o7 At frenfiE =
(a) FaT & =g Fers § e Hi goms § I @i
(b) hEN H == # WA o % fore vicartea fFe s ey
(c) T LB SR W& o foru siiewiea foeen s <nfeg
(d) TOT T H IW e b forg Weantea e w0 =g
fefonradft, ¥ g5 &9 A=® Yed 95, &
(a) Wémmﬁﬁmﬁm%ﬁmﬁrﬁ%
(b) F&H {29 ﬂw'ﬁqﬁmhsﬁmwﬁ??
() F=S Use dfoe wet Gzmfos a9 sdier J

(d) mﬁa%mﬁﬂamsﬁ@aﬁawaﬁ?%

Students who ask questions in the class should be
(a) advised to meet the teacher after the class -
(b) encouraged to participate in the discussion in the class;

(c) encouraged to continue asking questions
(d) encouraged to search answers 1ndependenﬂy

g8, Freffad # ¥ HiA-a1 HEw 1 ahomd T& 372
(a) <&
(b) ¥
(c) rCaeRaT
(d) e G | e
Jor 53 5 faow five & @ue &A1 9 -
(@ T&d
(b) farrs

(o) ufqia=zT
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Which of the following is not the product of learning? x
() Skill |

(b) Knowledge
(c) Maturity
(d) Physical structure

89, mmwﬁﬁﬁmﬁﬁmﬂw#mq&yﬁmmm%? T
(@) ==t iy ‘
(b) & w fafy
(¢) Frm-tom w3 ffy
(d) wiehem fafy

?mm%mmﬁmmgmﬁmmamw
?

(@) g fedt

(b) =% Bns fudt

(c) Sorerafifar fms faxdt
@ W fat

In which teaching method, learn
proactive?

er's participation is made optimal and
(@) Discussion method

(b) Buzz session method

(© Brainstorming session method

(d) Project method

90. m&mﬂ%ﬁw—mmmaﬁmﬁw@
() T 1 riafes o si Rramefi-dan
(b) ﬁtmmsﬂaﬁéﬁtﬁ%aaﬁws—mmwmﬁﬁﬁmﬁaﬁﬁ
(c) ﬁrmﬁm—mmﬁmaﬂtﬁw%aﬁﬁﬂmwm

(d) weed 3R e # R = S
/9-B - (38)
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ostis-RRre: B T T TR BT O, Lot B L oo D L S e e e el ST O DU RN oty ERt S

SRS T

35t fo3 aaa {99 faua aa fiffpr § yorfes &t q@eT?

(a) WS T 43w w3 fafimradt-ger = #egdt 7S

(b) W?Mﬁﬁﬁ%@ﬁm—mﬂwmﬂ%ﬁﬁammﬂaﬁeﬁ
fesomt '

(©) wimme & wR-ygrerftssT w2 fei g9 nifmmua = famrs

() yEus w3 faaaat fdg wifmimus @ g9

Which of the following factors does m;t affect teaching?

(a) Teacher’s internal locus of control and learner motivation

(b) Teacher’s biographical data and learner’s interest in"co-curricular
activities _ _

(c) Teacher’s self-efficacy and teacher’s knowledge( of the sﬁbject

(d) Teacher’s skill in managing and monitoring T

o1, “mreeT 3 P 5 e & fran- e W Y GRS S 1w 31 |
wd@t fgeeT g1 |
(a) w&Hd

(b) sfafeaa

(c) ITEEHd

@ S H A B A
m-wmmymmme&qﬁﬁwaﬁwaﬂww =
At feasy g

(@) wfgHS

(b) wifsHfeZ |
(© wAfHS . L.
(d) Buiss B & et - e e o g i o B

“Instruction medium in mother tongue will facilitate teachmg—learnmg
process”. Choose the correct option.

(a) Agreed

(b) Indefinite

(c) Disagreed

(d) None of the above

/9-B (39) — )



m’rﬁa@w%ﬁéﬂﬁ, NEP 2020 % ____ arsifér e I *H,'

(a) Wﬁﬁ%ﬁmﬁmh

(b) Tt et 7 g g

(c) aﬁﬁmmaﬂtwmmﬁmmﬁmm
(d) m&%ﬁiw%ﬁﬁaﬁwm

NEP 2020 f&3, fﬁf&wﬁmméﬁaﬂm%ﬁﬁﬁﬁzWﬁ%ﬁmﬁm&ﬁ
A It i '

(a) ﬁ”ﬁﬁm»@»@afﬁwgﬁmm

(b) ﬂmmﬁfwwsaugqgw@@

(c) mﬁaﬁ@mﬁq»@mmwﬁgm%gm@mw
(d) a@feacrhrfwuaaa"rfa»rrgmggaaar

Regarding the integration of ICT in Education, NEP 2020 not recommended

(@) promoting personalised and adaptive learning

(b) enhancing access to quality education

(c) developing critical thinking and problem solving skills
(d) strengthening traditional teaching methods

93, R %1 =EER BT =fR

(a) wsmER
(b) fremyg | e
SR R
() e

wimmE T feegs S odfter 3
(a) ysusft

(b) Querw

(c) wregnah

(d) fegema

Teacher’s behaviour ought to be
(a) administrative )

(b) instructive " f =
(c) idealistic g
(d) directive

/9-B
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oa. fwa arsi % Hed % NEP 2020 1 qer Bied 71 27

(a) TG T&H ST & BT Fgren &

(b) Freelt 1 IS yereghen

() T HE

(d) Tore G N | @ S

ferm T (subject streams) © U f&9 NEP 2020 ¥ ¥y 3= ot 97
(a) W= & §3Ffoz Foa

(b) fefmi T w3 fegar

(c) I maféar

() ferr ggr St S5t 3 g9 W

What is the main focus of the NEP 2020 in terms of subject streams?

(a) Promoting memorization
(b) Hard separation of subjects
(c) Rote learning -

(d) Moving away from subject stream divisions
95. et e i R B % srateda SEeR 1 fres g0 Ffa R S wwd ar
(@) BT I T HAT
b) =& Arar-fem S &= g A
(c) STETENT SHFTER % BRI I Tal ST S TR G HET

(d) 3 TSGR HET
feaawﬁqﬁaﬁ@maﬁ%nwﬂ&emaaﬁmwﬁﬁwww%
(@) fefomrgdt § FaT S

(b) Wit T famrs {39 fenrer

(c) g fe=g™ T F96T T U BT M3 GUST YES F96°

(d) fem & suone™ 99a"

Undesirable behaviour of a student in a class can be modified by

(a) punishing the student
(b) bringing it to the notice of parents
(¢) finding out the reasons for the undesirable behaviour and provide remedies

(d) ignoring it
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(a)

(b) Eega

(c) Iom

(d) STeH-TATEHR
mmmxm@@aﬁwmv-mfﬂamﬁgm

aeae‘fqmawﬁl

(a) WarsT

(b) HT&ST

(c) Yger

(d) A=-TH3fegzr

refers to an internal state that propels individuals to engage in goal-
directed behaviour.

(a) Competence

(b) Affiliation

(c) Motivation

(d) Self-actualisation

97‘

Stenfireht 3 fermr % @y, wferss 5 feres < vyt grft

(a) SR M T

(b) T8 UTed Teeh faepfir e

(c) ©E! & AN T

(d) TRreror % Setie 1 WA

363t € feaw 58, 3Ry &9 wiftmum < gfiar 24
(a) "I YEE dT&T

(b) Bt US-yASAT T feaH qaar

(c) fefenradnt o HgareoRs 9T

(d) wfmyg &g flegaz &t =95 aas

With the development of technology, the role of teacher in future will be
(a) providing information

(b) developing new text-books

(¢) guiding students
(d) using internet in teaching
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@) el § Nefieh & wiftm swim @

(b) e i Gleer % g fefee syl s smaes Imm

(c) @A i wheen # senfieht w1 w1 gwm T

(d) ekt 1 3TN Fae wiensi % e R s 2

g9 9 TR T e TaEEH § TEwE T A e 37
(a) F@H &9 IFESH Hft HiHz =9F o

(b) Ty &t Agss ot fafes Aust &t farrmug =3

() Tive &t yfafenr S8 FaadHt & =93 &

(d) SIeeH < =93 fags iftmre st it 7t 3

How is technology being integrated into classrooms in the emerging Indian
society?

(a) By limited use of téchndldéjr in classes

(b) Extensive use of digital tools to facilitate learning

(c) No use of technology in learning process

(d) Technology is used only for exams

99, ﬁ%aﬁwﬁawﬁwmaﬁﬂﬁmﬁﬁﬁmﬁm—ﬁmﬁm
I fFE TR T e o /7

(a) =agaw ArfieRt

(b) wfea wmiierd o wedm

(©) e fer 6 e ¥ fore i Tl
(d) mﬁagﬁm@ﬂﬁ%wﬂa&

éﬁwmaﬁmﬁwf&m%mfa%ﬁwé}wm
Hipt &t myghz § far fam & w3 fiée 967

(@) ure-ue gt

(b) WIGeH Frafierdt wI Hiawar

() it & AyEnI BEt GEt AHTES dt
(@) yduet wfent Ia HH3 Fafiledt
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What Kkind of significance do school administrators currt?giﬂy f}iﬁgigﬂ
involyement in their children’s education in the rapidly iy
Society?

(a) Minimal participation
(b) Active participation and collaboration
(c) No support for parental involvement

(d) Limited participation to administrative issues

100, FfeEe T B T (UDL) w womirett e  fomr 9 20 €7

() TH-IHR-T % T I 1R

(b) wF Han & Tt Rranfiat 6 fifre did 6 s B W@ FE

(c) wﬁqﬂmﬁrﬁﬁﬁ:ﬁwmﬁw

(d) o IH-ITelS TTH HE T BE T e R FE

YIRS fswmiis @7 BIf6 (UDL) fifx mnsft amgh 79 fam 975 '3 19 fider 39
(a) fEF-nrag-fée-acdrt Tofigi

(b) %W%ﬁmwmmww;swm

(c) a?feaﬁmfuhmaeﬂﬁwﬁé’rm‘:ﬂwuw

(d) IR §o-yudt a5 =8 fefonradin 3 foors Sofys a9

What does Universal Design for Learning (UDL) emphasize in an inclusive
classroom?

(a) One-size-fits-all instruction
(b) To meet diverse learning needs of all learners in one classroom
(c) Strict adherence to traditional teaching methods

(d) Focusing solely on high-achieving students

101.@@311%&11?&%&713&1%@@%%?
(a) Wm@%%wﬁa&ﬁﬁmm

(b) @t fenfeial = vom fdw wem o0 |

(c) T THIEE 3R TEwes Mg s A g Yew e
(d) I I -ITAT W F A BE W ST HR B
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(a) oA T Juz TE nigaHs § A 58 Y F9E

p) "9 fefenrading § 83 frft foerfes yEs s9s

() fox W<Hl %3 Forfex five | To=ae @t Hges &

@) TAae §9-yft sms o fefonradhnt '3 fows defeg s9o"

What is the role of a teacher in an inclusive classroom environment?
(a) Strictly enforcing discipline to maintain order

(b) Providing the same instruction to all students

(c) Facilitating an inclusive and supportive learning environment

(d) Focusing solely on high-achieving students

102.

Tl TesTsn i THY, SEor g 1 I 31 27

(@) |t 6 FUigHn § srafer @

(b) % G e ¥ amnh det & S 3 i T A

(c) 3FTavaS® feawor S

(d) G i aEiesd ® SHeET HE

miardt § feadis a9e AH, weTEishe’ mee I ot »igy 37
(a) TTeHET < g &9 Wiadt ¥ YET 9o |

(b) feo wlidt g=@er fa miardt fiie 2 @2wt &5 is it 9
€ ¥BIWWIme

(d) FHaEt € A9EEsT § SHaHETH AT

When designing materials, what does the term ‘alignment’ refer to?

(a) Arranging materials in alphabeticél order
(b) Ensuring materials match the learning objectives
(c) Adding unnecessary details

(d) Ignoring the relevance of materials
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() oy Repe
(b) =ife=

(d) fécaiafes »u - _ _
Which of the following is a type of non-projected teaching-learning material?
(a) Computer simulation
(b) Video

(c) Whiteboard

(d) Interactive app

104.

Srfrfiag § & FH-u1 TR Rekeri oET % Riw U Wi Hie HER M B
IR 87 :

(a) =gTe fEferdt gede

(b) wi-g-2e Hiea

(c) RN IS AR AH

(d) e vigHRe

ot Gergas I7

(a) =Tows fonfsdt I3 Ae
(b) Mi9-z-2ame Hecang
(c) »ad® dHas w3 HER
(d) fefenwg IsaHe

Which of the following is an example of a motor skills assistive technology for
students with physical disabilities?

(a) Virtual Reality headset

(b) Speech-to-text software

(c) Adaptive keyboard and mouse
(d) Educational podcast
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() T

(b) éaﬁﬁﬁﬁaaw

() e afaiwt

(d) ST Hrdsh

foewar Ston™ § e &9 1CT < =93 998 & Wy S &t 32

(b) ot et

(c) TIdt aEtfedie

(d) FHTAR AHEMH

What is the primary goal of using ICT in teaching children W1th special needs?
(a) Entertainment .

(b) Personalized learning

(c) Outdoor activities

(d) Social events

106.

rdry fave 3 e ¥, Rrareen SEH, ma@mﬁﬁamﬁﬁ%?

(a) Toremene SrgEeEm fagia w HiE aﬁmmﬁmm%&a%
(b) Toreres argde § i g wie vt iR sfifie e 3

() TR FEaH Rty w7 F aed fses w PR wEi R

(d) T e R R 3fm d e @
%ﬁﬂfﬂ‘?ﬂhﬁ%ﬁa?ﬁ?mﬁﬂﬁmﬂﬁaﬁéeﬁa? .

() mmm%&@ga,aﬁﬁmmm%m%

(b) mmﬁam#wm@aﬂ@m&mmgﬁ
(c) aﬁﬁﬂﬂﬁﬁﬂ%@%ﬁwﬁﬁﬁ%aﬁﬁ * B

(d) ﬁﬁnmﬁwﬁwmmmmaﬂ‘a@rﬁ

How does action research dlffer from trad1t10na] research in the context of

special education? : : :
(a) Action research focuses on theory, whﬂe traditional research focuses on

practice :
(b) Action research involves active participation and. reflection by practitioners

(c) Traditional research exclusively relies.on external experts
(d) Action research is not applicable in special education settings
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UDL & o qe7 fagia @1 87

() THEIAT, BT, Jrgheral

(b) wiiffoe, Jem, sfverf

(c) wiessheor, fasragren, e

(d) T, g, w3

UDL ¥ 35 Wy fag'g &t 957

(a) fearguzr, wresfl, feammasT

(b) BHTEesft, mysniz, miags

(c) Hoydl, feiwmsT, wogssT

(d) Hm, JugT, I&ITIT _

What are three main principles of UDL?
(a) Uniformity, Simplicity, Consistency
(b) Representation, Engagement, Expression

(c) Exclusion, Specialization, Conformity
(d) Limitation, Segregation, Rigidity

108. frares sgaum i §, @H-g-Rd-twe’ (PDSA) =5 1 997 Heed 87

(2) FE T W b gfeeshion TSR AT

(b) @& feehul % SATUR T THRIH H Sl B &

(c) a8 PiieR gum 3t ufssr &1 sem@n a1 2

(d) I8 WP FIEH 6 T AR F 2T 2

wams 91 fafenT 99, YSs-3-Aedt-mae (PDSA) dad @ ot Hiz= 37
(a) fou fifa =t uJs '3 39 fder

(b) feT 897 T »U9 '3 AHGWS § fea g I

(c) feg Barzg gaT w3 AU9 § O30 fag goer 3

(d) feg &7 a9 I {ghmeat § w99 Juer |
In action research process, what is the significance of the ‘Plan-do-study-
act’ (PDSA) cycle?

(a) It emphasizes on one-time approach o=

(b) It discourages adjustments based on findings

[

(c) It promotes continuous improvement and refinement
(d) It excludes practitioners from the research cycle
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(a) ﬁﬂﬁmﬂaﬁhaﬂﬁ%mﬁhﬁﬁﬂ%mm

(b) T T f&wmea e < wfi ot % forg v e B

() BT SR H g 1 S, e et Fq F

(d) o TRt i e § e won

UDL ¥ He99 199, yotae yfafonr iy yHifeusr mee = off »e9w 37

(a) feforadhort § miw o yeons g9s @ T8 I yEs =@

(b) TeHf3Tst g famdls q@er 7 w9 fefonadr et feama I

(c) fTefenradtt § weadt fa2 O <t et & fom <9 feamy UW 9"

(d) F9 fefonradfut & yesioce: 3 g9 Jyer

In the context of UDL, what does the term ‘representation’ refer to in the
assessment process? . -

(a) Providing various ways for students to demonstrate understanding
(b) Designing exams that are uniform for all students

(c) Offering choices in how information is presented to students

(d) Excluding certain students from the assessment

110, 3T, UDL%‘G’i%%‘IﬂﬂILﬁ%HTﬁ St FY B THd B 7

(a) TEw % Fadl Th oIh * ST Hh

(b) &t wET % foTC THW He % S JaH FE

(c) aﬁmmﬁmaﬁ@mﬁﬁmﬁ%ﬁwm

(d) f&ammﬁiﬁ@nﬁlﬁfﬁzﬁ@rmw
mfummum%aﬁéwawwsﬁémaamam

(a) Tofes T faag fog a1 &t <93 o4 o

(b) mwwmmémmm

(c) ﬁmaaﬁasfaﬁwaﬁwéwﬁwgwmmamxmaﬁ
(d) foig GO @8 fefowadn & g3 afifedter S 999 9

How can teachers differentiate instructions within the framework of UDL?
(a) By using only one mode of instruction

(b) By providing uniform learning experiences for all students

(c) By tailoring instruction to meet the needs of individual students

(d) By excluding students with special needs from certain activities
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(a) =S @ st

(b) Taam =afs fian sifif=m (IDEA) o

(c) Temretin safr sfufam (PwD siftfeam)

(d) SR gafe uitwe srfifem (RCI sifafem)

faaaT Tedt g foewiar Showt BEt wove fefana Wi & Har a5 92
(a) H=fa fAgg Wae

(b) »raw feradt fifim Wge (IDEA)

(c) woHs i feimifadidt Age (PWD Ae)

(d) FI=Steas drs e B A (et Wae)

.. Which national legislation ‘mandates equal educatlonal opportunities for

children with special needs?
() Mental Health Act

~(b) . Individuals 'with. Disabilities Education Act (IDEA)

(c) Persons with Disabilities Act (PWD act)
(d) Rehabﬂltatmn Councll of India Act (RCI Act)

.

:112.ﬁarmaa“iﬁqﬁmmaq‘r%7

(@) ¥ o= St JEER ¥4 § Wirreed! &

(b) 39 Sefirr sU A IFRE

(c) Te=am == &1 Frwh wiafefiri & it 8 &

(d) o IR o AARE WA T A

fowtar sfent & ufggmmdt T2

(a) ¥9 ¥ SHAS YfSTaa! 76

(b) €T €9 7 w@refa 39’3 v I

(c) FHAS =& 59 7 Qs T aftfedtn § HHE w92 Ts
(d) Hyde maifaa w3 Wi fAgg <8 u9

What is the definition of children with special needs?
(a) Children who are exceptionally talented

(b) Children who excel academically
(c) Children with impairments that limit their activities

(d) Children with perfect physical and mental health
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(a) @8 W BT & o7 e wrehipa wan @

(b) T T e o=y ) ffire sl B w3 g e 2

(c) & T T i & R fesain sl ) anfirer e foeen 7 @

(d) TE e IR T | e s=1 w wng @ _

fomuiar gfgnit & fiffunr g ¥z fowadters fifferr Qoo (EP) & ot gfimr 972
(@) &g A9 fefenmaet &t g ez Yiftmr |

(b) feo i fomuiar ¥9 ot fasus 83t § Yy 95 et fawrg it ot Gwer 9
(c) feg f&x wifivor Yoy § 7 fomwiar Sfomt § o9 e I

(d) feu fAge Ao wRHeEs=" =& Sfon °3 &g Jer &

What is the role of an Individualized Education Program (IEP) in the education
of children with special needs?

(@) Itis a standardized test for all students

(b) Itis a plan tailored to meet the unique needs of a child with special needs
(c) Itis a program that excludes children with special needs

(d) Itis only appl.icable to children with physical disabilities

' 114.ﬁm%ﬁaﬁﬁﬁﬁq—mﬁmmmﬂwmm@m%?

(a) Hagﬁfﬁﬁ'[
(b) e fagm
() WX
(d) vueh uffsear :
w@ﬁﬁmmﬁwm@mmm
(@) & aag . -
(b) 385 fizaH
() = B3
(d) oot @t yIifgr _
Which of the following is an example of a developmental disability?

(a) Short-sightedness
(b) Down syndrome
(c) Broken leg

(d) Allergic reaction
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(a) wft o= F fore gum Rigor wEpfl Iuerd

(b) R TeEE &1 He1E & e B g

(@) AR STEREHNS H T F ¥ aedEe Ha o

(d) e i HrifEhl o e | w=

foemiar St § UT9E 2 Hoae 9 fefds foerfest o I &am At 37
(a) wo fefonradhr &t &S fadt fifve mardt Y=o S907

(b) &= fomfes uagH &t MUt &8 yaer 987

(¢ fenadies 8=t ydtut 395 Bt fdar gerfesT

(d) TBWgH f&E Faaddt & =93 3y T9F

What is the primary focus of differentiated instruction m the context of
teaching children with special needs?

(a) Providing the same learning materials for all students
(b) Adhering strlctly to a fixed curriculum

() Tailoring mstructlon to meet mdundual needs

(d) Avoiding the use of tgchpplogy in the classroom

116.

ISRy TEieHA % el #, ‘Eﬁr@%ﬂwwmw%?

@) W@rmﬁgﬁﬁa‘iﬁgm

(b) ©HE W HheT B H HEg FW o o7¢ AR FERIAT FEH HET

(c) BTEI s AR TELAl I TGS BT

(d) w3 e faferr w s @

W{ﬁﬂ'@mﬁﬂ ﬂ%EH%’HT’ (scaffolding) We= € & WJg J?

(a) mﬁmﬁaﬁwﬁa@@a

(b) fefonradin &t HegsT 59 Hee 296 BE WREE AUTTEsT YE'% 95
() fefouadhmt dnr fonadios 87§ sHonie™ a5

(d) w3 wifomue Sftfant & 73 Ifoe

In the context of cumculum mod1ﬁcat10n, what does the term ‘scaffolding’
refer to? ~ :

(a) Removing all the challenges from the curriculum

(b) Providing temporary support to help students succeed
(c) Ignoring individualized needs of students

(d) Sticking to rigid teaching methods
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(a) vy Tew WeH F

(b) == ® Rl o fERe wen

(©) yfeerff Al &=

(d) e B 6 ARlee SR R w . |
Aya wferus feS ‘Age3aas” (facilitator) mﬁa&ﬂsﬁwwﬁa ’@'H&‘?H‘Eﬂ'ﬁ’?
(@) AUt foefes yes qga

(b) SI9= ¢ Teu3fez sma w3 fsqafg o3a" |
(c) Wﬂﬁwﬂaw@a N

(d) meﬁ{hﬁwmwam»@mm

Which role is commonly associated with the ‘facﬂltator in group 1:t=:au:hmg'J

(a) Providing direct instruction

(b) Controlling and directing discussions

(c) Creating a competitive environment

(d) Guiding and supporting the learning process

118.
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ffefaa # & H—ur Ty Rueor 6 i A 87

(a) i SE =

(b) <H TR Hh

(c) e Hie & IHgH

(d) fireres % ferg W | it
w@%ﬁm@mammma? '
(a) fefonradhy &t HiHS mysi3 e
(b) TR UTHUE YI'= weTTenlT far

(c) ffg fi fiiys € »fgs=

(d) wiftrmum T dH T 89 weET

Which of the following is a potential challenge of group teaching?
(a) Limited student engagement

(b) Reduced social interaction

(c) Homogeneous learning experiences

(d) Decreased workload for the teacher
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(a) mmwgmmwm@;ﬁéwa

(b) fofomg HITF 3% ude § HHZ T9d ﬁ

(c) Jofegt w3 yJdetesT § =w@T wE FAEEH & HE o

(@) feforradit & fories wafés gon 3 T Fo

How can technology be incorporated into collaborative teaching and resource

rooms?
(a) By avoiding technology to maintain traditional teaching methods

(b) By limiting access to educational resources
(c) By integrating technology to enhance instruction and accessibility

(d) By isolating students from digital learning tools

120.
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(b) W Ry 3k rash St § HETE Ha dad & WH B |

(c) o Fenai § ity Rran frarenl sit Ff-wft Fiidbren w1 =% B

(d) sad Rl & e TEam 6 e B

A3 aHfanr g9 fig Wy 9183 gasT o 37

(a) fog fge JiEiT feeuiaesT @8 fefonadn’ sl T6

(b) fofiom gv J99 foim w13 83 e &9 fiye I g7 I8

(c) feaa" awmaH o faim i wfrmuat w3 et @9 Uor-Jeres ¥ AR 9
(d) few & frfiat fegarg Afodar & &3

What is common misconception about resource rooms?

(a) They are only for students with severe disabilities

(b) Resource rooms are learning spaces in every special and inclusive school

(¢) These classrooms are staffed by special education teachers and sometimes
by paraprofessionals

(d) It needs collaboration among educators
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(c) H-HT w3 mig=fig yut &g Tt

(d) 37 SuaHd feam

What is a potential impact of psycho-social challenges on the acadermc
performance of children with special needs?

(a) Improved concentration and focus
(b) Enhanced motivation for learning
() Decreased self-esteem and academic achievement

(d) Accelerated cognitive development '
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| (d) By minimizing the importance of inclusive education

(a) T i IR Sl ! TIRSIETS Sl -

(b) arerTE St WTET H TGET S

(c) WISHTHF WEdrT 3 TR WG

(d) wmaeft e % e I HH HH

hmaﬁ'?suﬁ@a?m-{ddbfaé HEISHE 39 ’%L@TEBHHW?I?
(a) 9 eﬂwr: fegys 8 § saoniT™ 94

(b) WE-add T & g § =T 3

(c) mﬂaﬁ? W3 TE3 YE'S A9

d) el Mo R W A

How does family support positively influence a child with a special needs?
(a) By ignoring the child's unique needs

(b) By fostering a sense of isolation

(c) By providing emotional support and advocacy
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(@) |1 F B AR T

(b) a1 wE | EEe

(c) T F I T IR et H FH

(d) THSHEF Hiee § FUR
@WW%WH@MW?MWB&ET?
(a) femfyz yeowr 9a <t fedt

(b) 3Tt 2 Ay =t It BHazT

(c) F=m T €9 Yug w3 degudt fee ot

(d) HUI I& AHHIFIS € &9 |
What is the potential consequence of inadequate support for families of‘
children with special needs?

(a) Enhanced coping mechanisms ,

(b) Increased resilience in the face of challenges

(c) Higher levels of stress and decreased well-being
(d) Improved socialization skills |
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Fr-ah e B ST T T A TR, e oiv R e @ il a8 7
(a) Temmiten

(b) Tewmfaemn

(c) Temeherargforar

(d) feeifmn |

faast firde <t i vy 99 '3 uge, WUTSH w3 fove 99 wAss' &5 gt &t 37
() TEmarSor -

(b) TawSartm
(c) fomamgein
(d) femdartar

Which learning disability is primarily associated with difficulties in reading,
spelling and writing? :
(a) Dysgraphia

(b) Dyslexia

(c) Dyscalculia
(d) Dyspraxia
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(a) E«[ﬂﬁm

(b) ST demdef

() IR fesri

@ e

e 39 2 FBaT X9 wiyus v Wy w9 off 97
(a) TSIHT |

(b) Ffesfifes U

(c) PIBT FAsIHs

(d) SaH

What is the leading cause of acquired blindness in adults worldwide?

(a) Glaucoma
(b) Diabetic retinopathy
(c) Macular degeneration

(d) Trachoma

:(126.

e fre 3 e  sifw T ASD 1 T 3k 27

(a) Attention and Sensory Disorder

(b) Autism Spectrum Disorder

(¢) Academic Support and Development

(d) Adaptive Skills Deficiency

feim fiffpnr & Hegg fS HAY ASD =" off #98 37
(a) Attention and Sensory Disorder

(b) Autism Spectrum Disorder

(¢) Academic Support and Development

(d) Adaptive Skills Deficiency

What is the meaning of the abbreviation ASD in the context of Special
Education?

(a) Attention and Sensory Disorder

(b) Autism Spectrum Disorder

() Academic Support and Development
(d) Adaptive Skills Deficiency

(67) [ P.T.O.
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(2) ST w1 Ry

(b) fass faswerhm st Raw

(c) Torcrm saffmal =1 sl faw
(d) ﬁ%mﬁmﬁmﬁm
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83rfas w9s '3 defas §7

(a) »3TTHA T® fo=w

(b) IBEE Wl wifar foey

(c) »yIH fonEdnf e wiggemed! fo=r
(d) fem=formft mret o foen

Which international day is focused on promoting the rights and well—beingg
of persons with special needs including children? |

i
i

(a) International Children’s Day
(b) Global Disability Rights Day
() International Day of Persons with Disabilities

(d) Worldwide Inclusive Children’s Day
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(a) IBRE

(b) g=AT TEEww g

(c) @mfors Rreor Rrgra

(d) iR yonedt firgig
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(d) ESHes faren e

Which theory focuses on the role of cognitive processes in learning and
suggests that individuals with special needs can benefit from explicit
instruction and strategies to enhance their cognitive abilities?

(a) Behaviourism

(b) Information Processing Theory
(c) Social Learning Theory

(d) Ecological Systems Theory
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HH-H1 AT Rk 39 REr w AR 2 @ fr st % aw e et $i e ok
ad Bt & 3 faey fren = franRi 6 vy smavaswaet w W@ S0 % fom Fea
UM T S Higq HET FMRT ?

() SAIERATG S

(b) TEATETE

(c) Hedluer gefereim 2t

(d) wAIfveruTeHes g

fags Hafefamrsa faats fer fegw ’i’tﬁaﬁ?ﬁﬁwﬁ%ﬁﬁ%ﬁweﬂhﬁ
95 BE gEfest § wags gTEe '3 fus T Idier 37

(a) fe=gg==

(b)  ITESHAST
(c) wodlug féesiny fEgd

@) Hsfefmrss fagdt
Which psychological theory emphasizes the idea that individuals have unique
learning styles and strengths and special education should focus on adapting
instruction to meet the diverse needs of learners?

(a) Behaviourism |

(b) Constructivism

(¢) Multiple Intelligences Theory

(d) Psychoanalytic Theory

(59) | P.T.O.
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(a) Trmis wEs

(b) ftu®, fEmt

(c) faferm S

(d) i HodTend

iy 39 03 Hafefmres fraist € fugv o fam § Ao Jier 37
(a) franiz <9fEs

(b) ¥, #e. AfdsT

(c) fadgtont SHd

(d) s . THS

Who is commonly known as the Father of Psychological Theories?
(a) Sigmund Freud

(b) B. F. Skinner

(c) William James

(d) John B. Watson
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aarash fem_ |

(a) RA W dNE gggl % ! @ Wie w8
(b) @& AT iR I Wenfad &l 8

(c) e ® fafererar 6 Meenfag T 2

(d) # At I Suew wier 3
W’%Eﬂﬁ'W__]

(2) THPEHZ AYTT T AHE iR

(b) WuT THST fsfonret § Qamfag qo<t I
(c) IB®HIH fe fefdazr = ms Haddt 9
(d) 39 T Haz gHe godt

Inclusive Education

(a) includes teachers from marginalized groups
(b) encourages strict admission procedures

(c) celebrates diversity in the classroom

(d) includes indoctrination of facts
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FwTeh e 7 & 6 &l ) b 0 & T _____ @ Fge =nie]

st i feg st S fa g _ 2 wiogs Jewd __ § wese e JI
() ®9/fAAeH

(b) frreH/dS

(c) 3=/ ufaes

(d) S9/TI=IE

Inclusive education assumes that we should change the to fit the :

(a) children/system
(b) system/children
(c) environment/family

(d) children /environment

9B
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TR ST R e gt et €7
(a) A

(b) wrsfer

(c) Tl |

(d) Frag=

FIESHFIT Mo 39 '3 &5 gt I I
(a) &I

(b) wafdar

(c) fesHT A9

(d) Syt A9

Creativity is usually agsociated with
(a) imitation

(b) modeling

() convergent thinking
(d) divergent thinking

(61) [P.T.O.
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(a) I8 W s eaw A 3 i SEEEAH! H F G A 2

(b) HeM ¥ IuH TEIMfAES @I W

(c) 39 B % sivmw & suh Fafd & ok gafne 317 $9 T X THd

(d) 3m 1 dfea § ok die i e W o 3E e gl 1fd 3 Ten w5t g
Ea

Tag gaé fan seadte fefonrodt § wrorgs fefenraen’ ¥ o8 uF8e & A fiswr

3, 37 3T G0 § gwmw &5 faq 397 = fewm T 99172

() € % =7 furs & T faSf wHS § gaAs T HE 3 |

(b) W%@MWW@W&H |

(c) 3HT HSG fa wigrue Grt famHz J »13 few et gt g9 &df 99 Hae

(d) nﬁm?a?aﬁﬁfearﬂ??uguaam%@ﬂwﬁﬁmammfﬁw@zaﬁ

afaw 99

If you get an opportunity to teach a visually challenged student along with
normal students, then what type of treatment would you like to give him in

the class?
(a) Not giving him extra attention because majority may suffer

(b) Take care of him sympathetically in the classroom

() You will think that blindness is his destiny and hence you cannot do
anything

(d) Arrange a seat in the front row and try to teach at a pace convenient to
him :
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(a) HOS B 99 TR

(b) MEHHS & I=F T feay 393

(o) eand e a9a (

(@) €35 § &I wU9g FwEm g

A teacher can develop social values among students by

(a) telling about great people

(b) developing sense of discipline

(c) behave ideally

(d) telling them ﬁoral based stories

—

136, T T SR # veen fid v, aRAt ol g A R s e 3 SRR -
| mm_ i ea T mr e |

(a) 11 fe, 1718
(b) 4 3B, 1807

(c) © fms, 1808
(d) 15_aﬁa, 1817

Auag ow f&9 ufod fenm wgs, The American ‘Asylum for the Education and
Instruction of the Deaf and Dumb & FEUET St art

(a) 117d9e, 1718§
(b) 4 wUZ, 18073

© 9w, 1808 3
@ 15738, 18178

The first special school in the United Staté_sl, the American Asylum
for the Education and Instruction of the Deaf and Dumb was established in

(a) 11th September, 1718
(b) 4th April, 1807
(c) 9th September, 1808

| (d) 15th April, 1817
| ) p
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(a) hewt W o
(b) wifafew dra
(c) I el S
() eaas :

forar o fyagr w9 (899) §e-Tet § fewsfog 5w 972

(a) IIB B

(b) Srifles &9

(c) 3U9s 39

(d) Udem &9 .

What structural (region) of the brain controls speech?

(a) Frontal lobe |

(b) Occipital lobe

(c) Temporal lobe

(d) Parietal lobe
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P s sfna 1 Heg & Wifew T St s ¥ Sfter <6 o § Jree
QT TRl T T & S 7 ST [T o T h ST T g hT oh whieret & < I
=7 8 5 wfre 3 R dred % Rrgia S IpEm E _ F w9 H e 9w gl

(a) SFEE ITET fometsr

(b) WHICH =FER &l

(c) oAeETE HagR fovem

(d) quﬁﬁw |
dfya wmEEse T8 8% ¥ Hiws o g <9 glowrd frdgret yfafonrer € wee
mr@m%@mﬂwmﬁﬁ@aﬁéﬁﬁaf&eﬁwéﬁwé@
'3 €5t § Tt gast 5% B8R w3er fegst S99t T fverdt s five @ fivo's & <5¢
& & faor Aier 9 -

(a) B fesw fem@ne (Applied Treatment Analysis)

(b) SusHa fe=ars Wt &7 (Cognitive Behavioural Therapy) a

(c) &9 fe=gg Hedt femdFE (Applied Behavioural Analysis) | ﬁ

(d) &g §U=HT UJY (Applied Cognitive Approaches) _Jl
/9-B (64)



F"ﬂe quality of life of people with intellectual disabilities can be improved

139.

significantly with the help of basic training procedures that will equip them
with a range of skills dependlng on their level of disability. The application of
learning theory to training in these areas is also known as

(a) Applied Treatment Analysis
(b) Cognitive Behavioural Therapy
(c) Applied Behavioural Analysis
(d) Applied Cognitive Approaches

foren # STEM 1 = a7ef 27

(a) Science, Technology, English, Mathematics

(b) Social Studies, Technology, Engineering, Mathematics
(c) Science, Technology, Engineering, Mathematics

(d) Society, Technology, English, Mathematics

fiftm 19 STEM = off nigg I7

(a) Science, Technology, English, Mathematics

(b) Social Studies, Technology, Engineering, Mathematics
(c) Science, Technology, Engineering, Mathematics

(d) Society, Technology, English, Mathematics

What does STEM stand for in education? -

(a) Science, Technology, English, Mathematics

(b) Social Studies, Technology, Engineering, Mathematlcs
(c) Science, Technology, Engineering, Mathematics

(d) Society, Technology, English, Mathematics

|140.

e R § MOOC %1 1 31 87

(a) Massive Open Online Course

(b) Modern Online Qutreach Class

(c) Microscopic Offline Online Course

(d) Multinational Open-source Online Collaboration

isardts it f¥9 MOOC & &t »i@g 7
(a) Massive Open Online Course
(b) Modern Online Outreach Class

(c) Microscopic Offline Online Course
(d) Multinational Open-source Online Collahoration

/9B
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What is the meaning of MOOC in online education? 4
(a) Massive Open Online Course

(b) Modern Online Outreach Class | e
() Microscopic Offline Online Course

(d) Multinational Open-source Online Collaboration
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() fesamar & waita aft gl s @i s

(b) ¥8 ghivea & fr & oft R s Ren @ sfm T @

(c) Temmm BHEi % MU gerum ) e Ht sTeEer HET

(d) FREh He weral H SR Her

e fiffior 259t iy < folime faais = oy A it 30

(b) feT walidt gl fx foeuioe = it & Sor fiffinr 3 fosa o iz 2
(c) fe=uiar fefenraeinf’ et Hu Tor & fithor § 3¢ qua

(d) ¥HfEz IsHIH wfgnmit § Fe F9a

What is the prunaujr goal of the ‘Zero Reject’ principle in spemal education
policy?

(a) Rejecting all special need related claims

(b) Ensuring that no child with a special need is denied from education
(c) Rejecting mainstream.education for disabled students

(d) Rejecting inclusive classroom practices

142.
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27

SR feshetia st aiwg (IDRC)
(b) g W §rat (WHO) '.;_
(c) ¥ T ST A SR H1 (UNICEF) ."
() Feperimen wemem Afis Ted (DIGA)
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(a) MITITHI ¥ITET wifers ime (IDRC)

(b) feore fAg3 #ess (WHO)

() Fuas THeT fesdnos fossday MaitH 57 (UNICEF)
) forefasdt fesagms a@ws wefed (DIGA) |

Whi‘?h international organization advocates for inclusive education and the
rights of persons with special need, including children?

(a) International Disability Rights Council (IDRC)

(b) World Health Organization (WHO)

() United Nations International Children’s Emergency Funds (UNICEF)
(d) Disability Inclusion Global Alliance (DIGA)

l

143, Fi SRt dTet ST 61 A TR # R

(a) TR HiE i Afewt

(b) e = e et el fafde Rt

(c) 3o HFMIHE EHATE

(d) ¥l ST

foim = =8 Sfgwr ot o feRET A7

(a) FHIY TRy ot BT |

(b) fifuz & yorfes ada =emi fefds At

) €63 TusHe EE |

(d) g HEFEET

What is a common characteristic of children with special needs?

(a) Homogeneous learning styles

(b) Diverse conditions affecting learning

() Advanced cognitive abilities

(d) Limited adaptability

& (87) | | [PT.O0.
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(a) FeTTE

(b) difva woflerd

(c) wewI wEam

(d) s |

fomraiar Showt 2 yoaew 139 ufsed ff gher fosrge 357

(a) feas3T

(b) HHZ AyBEM3

(c) HIS=YTS AITEST

(d) Soust

What role do families play in the rehabilitation of children with special needs?

(a) Isolation

(b) Limited involvement
() Crucial support

(d) Exclusion

145. fdr Rian T frarors SIgEU™ 1 ST FH H I F1 27

(a) Femfedfa. s TEH -

(b) AT *hi EaTCTIEd AT

(c) Toremor wemat 3R BT UfmEl # YR HT |
(d) e JIFHYH B WHAIFAT FEA ' -
ferm fifimr 1S9 Waws forge & <93 995 o &t vawe 37

(a) At § afen Jyer

(b) 3=Ne3T & foam T9aT

() ifmys wifgnra w3 fefenradint ¥ aifm § fos 58T

(d) fefew 8w § fiprdt g5@er

What is the. purpose of using action research in special education?
(@) To maintain the status quo

(b) To discourage innovation

(¢) To improve teaching practices and student outcomes

(d) To standardize educational research
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146. NIMHANS %1 9 &g mar 37 )
AU FEE NIMHANS ¥ ot wgg J7
What does the acronym NIMHANS stand for?
(2) National Institute of Health and Neurological Sciences
(b) National Institute for Mental Health and Neurosciences
() Neurological Institute for Mental Health and Allied Sciences
(d) National Institute of Mental Héal’éh aﬁd NeuropSYChOIDEY
i
147. NIMHANS T8 sefta s & g 27
(a) T3 foeeht
(b) e
() T
(d) ==3
NIMHANS faw g3t nfge fos wfsg 372
(a) &=1 fo8t
(b) IEg
(c) e
(@ v
In which Indian city is NIMHANS located?
(a) New Delhi
(b) Bengaluru
(c) Mumbai.
(d) Chennai
1148, T T wTe e F e Es @ wfire e St = ?
%mwmﬁqﬁ%mmaﬂ%w@mﬂ%M?
How many Es must be included in an effective lesson plan?
(a) SEs
(b) 4 Es
(c) 3 Es
(d) 2Es
—~—_ (69 ) [ PT.B;
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(b) T Jufw

(c) sfe Iwem

(d) &0 =
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(a) IS IA9H

(b) TIHG JIHY

(c) 3feF AT

(@ It v

Who developed the Thematic Apperception Test (TAT)?
(a) Carl Rogers

(b) Hermann Rorschach

(c) David Wechsler

(d) Henry Murray
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(a) 3w

(b) =™

() 2t @

(d) R T T

Jo fofipnt T fagar fifkmr o g1 & 32

(a) W3dT dI&"

(b) forss

(c) <= ey

(d) dfuGeT IHT BIT

Which of the following is not a part of education?

(a) Travelling

(b) Meditation

(c) Watching TV

(d) Playing computer games
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